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Load MS/LS transformer, without SSU

This is not an extreme situation, not at all. Minus 50 kW in very common. 
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These targets are general targets, not specially smart storage targets. 

1-2. With SSU we can postpone the classical expansion of the network. 

3.    An average MV failure takes about 2 hours. SSU’s dimensions are based on 
this figure. In 75% of the failures, it will do. 
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Peak reduction: so peak loads of transformers have been decreased and
expansion of the network can be postponed. 
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